J:iﬁ%
Vision®RIEMIEIEL
Qo1

1 =Gk

1.1 HHE
« DN65-200

12 &

+ GB/T3019. GB/T8163MKM4, HI T HAhM i 5 EE JE 1 1HE,

L .

1.3 RAXITEES
« 4xH7% 52 5MPa(25bar)/365Psi
o TAEESTRT A, BRI AS

1.4 Thie

o RN, B FEkiR VA R £ GB5135.11
o PRALRIEERE, PR ok A s
2iAIE

TAGE
3 BB R

3.1 b EREESSEE, WE GB/T 1348, f5-QT450-12

3.2 RERE (WiEiLm)
o4t MEM R
o A

3.3 FHHAE:

« EPDM (=JCAW) = @I TAKS #uk. 9IR. o,

s M, e iR

3.4 i24¢

o DRAN T R ISR, I pEAE
.+ GB/T3098.1, 8.8

3.5 12§
o DRAN R IR R, W
« GB/T3098.2, 8%

o

VISION

I = et
DS-1455
1.0AR

R4S

3% R E-40°C & 125°C

| 021-5954-6666 |



Ligm@

EBRESHE 1.08R

Vision®tRIEMIEIEk
Qo1

4Rt

-

=L

B

(&
g
i

| —

HAETT HAe s
o s RAHI ke
Mg | mm  THEED| Binh |EinEks 12t /125 « v X v z AL A=)
PR LIS Mpa N mm S HE mm mm mm mm mm mm kg
65 76.1 2.5 11371 7.14 | M10x55 2 105 154 96 145 49.0 31 0.7
80 88.9 2.5 15518 7.14 M10x55 2 118 167 109 158 49.0 31 0.8
100 114.3 2.5 25652 7.14 M10x60 2 144 194 134 184 50.0 32 1.0
150 165.1 2.5 53521 7.14 M12x70 2 198 256 188 246 51.0 34 1.6
200 219.1 2.5 94257 7.81 M16x90 2 258 331 246 319 59.0 42 3.0

< QOLUNNIMEREL, ASREHMERE B AR A G SR, i A SR T 1 A .
o TAEI A7 5 A7 3 TR . b v V) s U ) R AR Y 1160 S PR S AN M T (10 AT
o AR P S WAZ-1453 5 2R R .

©

VISION LEERNMEZRHEERAR | LERETIXE&=E82215 | 021-5954-6666 | www.visioninc.cn | 1S09001:2008 & £ 4 RIAE
2



